Solving - atics SQL
Single Dlstr:buhon

_ ‘Classwor'k

Period

The expression ﬁ
two factors. 4

form because it is the product of

The expressno
sum or difference of terms.

form because it is written as the

The Distributive Property says that a (b + c) ab + ac. This allows us to change expressions from
factored form to Sfdanddard fo

Use the aigebr‘a tiles to create a rectangle with the given dimensions. Ske'rch your rectangle and label
the dimensions and areas of your drawing. Write the greg of eacl actored form and

1. Width= x 2. Width = 2x ’ 3. Width = x
Length= x+1 Leng’rh =x-4

Factored:

Standard: <

" Each factored expression represents the area of a rectangle. Write an equivalent expression in standard
form. Draw and label a rectangle if necessary.

4, @4)

Label the area of each section. Write the area of the following rectangles in boTh fac?ored form and
standard form.
14, — : _ 15,

x&

16. 23x 4
8
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Solving Quadratics SQ1 ..
Double Distribution

The expression _(x+3)(x+2) is in
two factors,

| ~
form because i is the product of

The expression’
sum or difference of ?er-ms

form because it is written as the

To Mulﬂply two gomlalsgou can use the FOIL Method. Fmd the sum of the producfs of:

F: the First terms C T e Outerterms I: the Inner terms : the Las'f‘rems

Sfcmdardx 'FQ*" % x
a- g b bd

1 For each of the figures below, fill in the area of each section. Write two expressions for the area of ‘r'
 entire figure, one in factored form and one in standard form. ‘ =

{x 6% 5. X 3

10

Fqcfored'éx + (s BT FacToredix
Standard: Xﬁégg xf Standard: Xa “%

Each expression represents the area of a rectangle. Write an equivalent expression in standard form.
Draw and label a rectangle if necessary.

6. (x+5)(x+4) 7. (x+ 4y

ST RCTIN

1. (3x+2)(x+5) -

2% 2
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9. (x+8)
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